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CRGH: DE-16                                                                 SXEMHFW: INDUSTRIAL ENGINEERING 

TLPH: 3 HRXUV                                                                                                     MD[. MDUNV: 100

 

NOTE: TKHUH DUH 9 QXHVWLRQV LQ DOO.

x      QXHVWLRQ 1 LV FRPSXOVRU\ DQG FDUULHV 20 PDUNV. AQVZHU WR Q. 1. PXVW EH ZULWWHQ LQ WKH VSDFH

SURYLGHG IRU LW LQ WKH DQVZHU ERRN VXSSOLHG DQG QRZKHUH HOVH.

x      OXW RI WKH UHPDLQLQJ EIGHT QXHVWLRQV DQVZHU DQ\ FIVE QXHVWLRQV. EDFK TXHVWLRQ FDUULHV 16
PDUNV.

x      AQ\ UHTXLUHG GDWD QRW H[SOLFLWO\ JLYHQ, PD\ EH VXLWDEO\ DVVXPHG DQG VWDWHG.
 

 

Q.1       CKRRVH WKH FRUUHFW RU EHVW DOWHUQDWLYH LQ WKH IROORZLQJ:                                         (2[10)
          

a.        Calculation of Productivit\ is
 

                   (A)  Output - Input                              (B)  

(C)                                          (D)  

                                                                                    

b.      Nearness to raw materials is one of the factors affecting:
 

(A)    Line Balancing                              (B)  Line of Balance
(C)  Process La\out                            (D)  Plant La\out

            

             c.    chart is a

                                    

(A)    control chart for variables            

(B)    control chart for attributes
(C) chart used in production control    

(D) chart used in process control
 

             d.   PMTS in work stud\ is
 

(A)    Practiced Motion Time S\stem   

(B)    Practical Motion Time S\stem
(C)  Pre-determined Motion Time s\stem 

(D)  Pre-determined Material Transit sheet

                  

             e.   ___________ was first used in 1957 as a method of planning and controlling the Polaris missile

programme in US Naval Dept
                                      

(A)     Critical Path Method (CPM)       

(B)     Resource Allocation & Multiproject Scheduling (RAMS)

(C)     Graphical Evaluation Review Technique (GERT)       

(D)    Programme Evaluation Review Technique (PERT)



1/6/12 Code: A-20

2/4ieWe-elan.ac.in/QPJXne07/DE16-5-D06.hWm

 

             f.    Historically the term OR originated during
 

(A)     First World War                          (B)  Korean War

(C)  Second World War                      (D)  Vietnam War

 

             g.   A stitch-in-time procedure is
 

(A)     predictive Maintenance                 (B) corrective Maintenance

(C)  preventive Maintenance                (D)  none of the above

 

             h.   Laissez faire style of leadership is also known as
 

(A)    Democratic Leadership                 (B) Free – rein Leadership

(C) Authoritarian Leadership                (D) Autocratic Leadership

 

             i.    ___________ analysis is widely used approach for classifying inventories on the basis of cost and

use.
 

(A)   VED                                            (B) FSN
(C) ABC                                             (D) SDE

 
             j.    Factor Comparison method is one of the methods used in _____
 

(A)  Merit Rating                                 (B)  Job Description

(C)  Job Evaluation                              (D)  Work Measurement
 

 

Answer an\ FIVE Questions out of EIGHT Questions.
Each question carries 16 marks.

 

 

  Q.2     a.   Industrial Engineers are important link in an organization for design, operation, control and

decision making activities of firm. Justify this statement?                                                              
(8)

       
             b.   Hardly any location is ideal or perfect. One has to strike a balance between various factors

affecting plant location. Briefly discuss these factors?  (8)

 
  Q.3     a.   Describe the concept of Inspection. Write about µInprocess Inspection¶ in a manufacturing

process.                                                                       (8)
 

             b.   Describe the concept and characteristics of a Quality Circle. Briefly explain the steps involved in
starting a Quality Circle.                                     (8)                                                             

 
  Q.4     a.   Describe Motion Analysis and the steps involved in it. What are the rules concerning human body

in motion economy?                                            (8)

                  
             b.   Two types of standard data are used and each is calculated by a different method. Discuss these
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AFWLYLW\ A B C D E F G H I

DXUDWLRQ 9 9 10 4 7 3 8 7 2

PUHFHGLQJ
AFWLYLW\

- - - A B C D,E,F C G,H

OOG E[LVWLQJ MDFKLQH NHZ PURSRVHG MDFKLQH

 
(L) MDUNHW YDOXH RV. 30,000

 

(LL) OYHUKDXO FRVW WR
PDNH LW ZRUN IRU
DQRWKHU 5 \HDUV
 

RV. 25,000

LLL)  RHVDOH YDOXH
 

RV.40,000

(LY)MDLQWHQDQFH
 FRVW

RV. 300 SHU \HDU

 
(L) IQVWDOOHG FRVW
 

     RV. 1,00,000

(LL) E[SHFWHG OLIH
 

     15 \HDUV

(LLL) RHVDOH YDOXH
 

     RV. 10,000

(LY)MDLQWHQDQFH
FRVW

     RV. 100 SHU
     \HDU

DQG GHVFULEH WKH VWHSV LQYROYHG LQ GHYHORSLQJ D VWDQGDUG GDWD.                                                 

(8)
 

  4.5     D.   DHVFULEH EULHIO\ CPM. WKDW LV PHWKRGRORJ\ XVHG IRU CULWLFDO PDWK AQDO\VLV
(CPA)?                      (8)

       
             E.   TKH UHODWLRQVKLS IRU QLQH DFWLYLWLHV LQ D SURMHFW LV JLYHQ EHORZ. DUDZ D QHW ZRUN.                  (8)
 

                  

 
 

 
  4.6     D.   DHVFULEH WKH FRQFHSW RI OR. NDUUDWH WKH VWHSV LQYROYHG LQ OR?                          (8)

 
             E.   JRE EYDOXDWLRQ LV D V\VWHPDWLF SURFHVV RI HYDOXDWLQJ GLIIHUHQW MREV RI DQ RUJDQL]DWLRQ. GLYH LWV

REMHFWLYHV DQG EULHIO\ H[SODLQ WKH YDULRXV PHWKRGV RU V\VWHPV RI MRE
HYDOXDWLRQ.                                         (8)

 
  4.7     D.   DLVFXVV WKH IDFWRUV WR EH FRQVLGHUHG IRU UHSODFHPHQW RI HTXLSPHQWV.                   (8)   
 

             E.   FURP WKH GDWD JLYHQ EHORZ VXJJHVW  ZKHWKHU WR SXUFKDVH WKH QHZ PDFKLQH RU QRW, XVLQJ AQQXDO
CRVW MHWKRG.                                                                                                            (8)

 
                  

 
 

 
 

 
 
 

 
 

 
                   (AVVXPH LQWHUHVW UDWH RI 10% ZKHUH WKH CRF IRU 5 \UV LV 0.2638 DQG CRF IRU 15 \HDUV LV

0.1314)
 

  4.8     D.   DHILQH LHDGHUVKLS. DHVFULEH WKH FKDUDFWHULVWLFV RI AXWKRULWDULDQ LHDGHUVKLS YLV-D-YLV DHPRFUDWLF

LHDGHUVKLS.                                         (8)
 

             E.   A JRRG JULHYDQFH SURFHGXUH LV HVVHQWLDO WR GHYHORS VRXQG ODERXU UHODWLRQVKLS. WKDW DUH WKH

HVVHQWLDOV RI D JRRG JULHYDQFH SURFHGXUH DQG WKH VWHSV LQYROYHG LQ KDQGOLQJ D JULHYDQFH?          
(8)

 

  4.9     D.   WK\ VWRFN WDNLQJ RI VWRUHV LV D PXVW LQ D FRPSDQ\? DHVFULEH WKH PHWKRGV XVHG IRU SK\VLFDO

YHULILFDWLRQ RI VWRUHV.                                                 (8)
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             b.   (i)   Draw a diagram determining the EOQ based on the   fact that it is the point where total costs

are the minimum.                                             (�)                                                             
 

                   (ii)  Find the EOQ and the number of orders per year from the following data: -                  (�)

                                                Annual use ± Rs. 10,000

                                                Procurement cost per  order ± Rs. 100
                                                Cost per piece ± Rs. 10

            Inventory carrying cost ± 20%

 


